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[HETERESiRR]
SFFHAMER A RHE T <10, n <2 x10%,3 ¢ <5 x 107, kpax < 108,11 <2 <n,0 < a; <
998244 353,0 < seed < 260 — 1, {#iF n ZMEEL
HE, MTFAEL, KA test N 0.
BN IR A ) B AR PR ) LR 2R

WAEHT | Yn< | Ya< | Fuax < | FRERIR
1 500 500 500 "
2 2 x 10° | 2 x 108 10 i

3 2x10% | 2x10% | 10'8 n =2k

4 50 50 108 y
5,6 150 150 10'8 ¥

7 2x10% | 2x10% | 10'® | n=98304
8,9 500 500 10'8 "
10,11 5x10% | 2x10% | 108 o
12,13 2 x 10° 50 108 y
14,15, 16 106 10° 1018 ¥
17,18 2x10% | 2x107 | 10'8 o
19,20 2x10° | 5107 | 10'8 ¥

[ GIRERE ]

SRR 1:

F—H IR, {a;} WIEN {1,4,2,3},
BE—UEN {2,2,3,3}.

BAEW G N {3,5,2,51,

o A ) 1)

WHAME: »=1;

BN k=0, ay, = 1;
BN k=1, ap = 2;
BREN(AIx1)®(2x2)=4®1=>5,

5 AMREAE T, {a;) VIEAN {6,2,5,3,1,4})
BfE—ER {5,5,3,3,4,4},
BIEWIRERN {5.5.9.2,2, 3},

oA Az Bl e] A :
WAL E: v =3;

BN k=2, a, =3, 2 =499122181 (mod 998244353):
B k=0, ap = 5;

B0y (499122181 x 1) @ (5 x 2) = 499122181 @ 10 = 499122191
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[FiR]

#include <bits/stdc++.h>

using namespace std;

unsigned long long rd(unsigned long long &x) {
)

x "= (x << 13);
x "= (x> T);
x "= (x << 17);

return x;

int main() {
int test, T;
unsigned long long seed;
scanf ("%d%d%l1lu” |, &test , &T, &seed);
for (int Case = 1; Case <= T; Case ++) {
int n, q, x;
long long k_max;
scanf ("%d%d%d%11d” |, &n, &q, &x, &k max);
vector<int> a(n + 1);
for(int i = 1; i <=n; i ++) {
scanf ("%d”, &al[i]);
}
for(int i = 1; i <= q; i ++) {
long long k = rd(seed) % k_max;
/*

Code your solution here.

*/
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